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D. ENGLISH
Direction (76-77) : Pick up the correct synonym for each of the following
words :
76. Hazardous
(a) safe (b) secure (c) sure (d) haphazard

77. Exhaustive
(a) extensive (b) incomplete (c) restricted (d) fatique

Direction (78-79) : Pick up the correct Antonym for each of the following

words:
78. Drastic
~ (a) extreme (b) forceful (c) strong (d) cautious
79. Unique
(a) individual (b) ordinary (c) special (d) typical

Direction (80-87) : Fill in the blank with suitable word given in the

alternatives:
80. Either Rahul or Vicky forgot to take ........ pen.

- (a) their (b) his (¢) theirs (d) one's
81. Six kilometers ......... a long distacne.

(a) is (b) are (¢} had (d) has
82. An assembly of listeners is ...........

(a) spectators (b) audience (c) mob {d) crowd
83. Copy in the examination is an .......... act.

(a) mortal (b} immortal {c) amoral (d)} immeoral
84. We are justified in accusing him ......... thett.

(a) for (b) with (c) dueto (d) of
85. An honest man is ............ noble work of God.

(a) a (b} an {c) the (d) no article
86. Books were lying ...... the curtain.

(a) after {b) under (c) beyond {d) behind

87. To turn over a new leaf means .............
(a) To change completely one's course of action

(b) to shift attention to new problems

{(c) to cover up one's faults

(d) to change the old habits and adopt new ones

Direction (88-89) : In each of the following questions, there are four different
spellings of a common word. Choose the correct one
88. {(a) amateur (b) amatuer (c) ameteur
89. (a) servent (b) servant {c) sarvant

Direction (90) : Find out the error part of the given sentence.

90. Not one of the children (a) / has ever sang (b) / on any occasion (c) /

in public before (d) / No error {¢).

(d) amature
(d) sarvent



Do as directed -
91. Mr. Thakur teaches ys Grammar.,
92. She said to him, “why don’t you go today ?”

(Chan<: ito Indirect Speech)
(Rewrite th.  ntecne using ‘too’)
(Change into positive degree)

(Change into passive voice)

93. She is weaker than she should be.
94. Honey is sweeter than milk.

95. Traitor (Give feminine word)
96. Qasis (Grve plural form)

Direction (97-100) : Read the Jollowing passage very carefully and answer
the questions given below it -

home thinkjng that someone would come, looking for it afterwards. But
10 one came to take the baby. So they cared for it very lovingly. The baby
grew to be a fine boy, and Neeru and his wife called him Kabir. As Kabir
grew older, he learnt from Neeru how to weave and make cloth. But he was

When Ramanand came, the sun had not risen yet, and so he did not see
Kabir. As he wentdown the steps, he trod upon Kabir. In surprise Ramanand
cried out, “Rama, Rama 1 and stepped back. Kabir Jumped up at once and
caught Ramanand’s feet, saying, “you have given me the ‘mantra’ of Rama’s
name, so I am now your disciple and you are my guru!”

97. Who found the baby Kabir ?
98. Where was the baby lying ?
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46, (d) Hazardous (adj. ) —adCITS

(- Syns : chancy, difficult, dangerous, haphazard, rlsky
s Ants : safe, secure, sure

W (a) Exhaustive (adj.)—frega; &
Syns : Extensive complete, Intensive
Ants : Incomplete, restricted
'@, (d) Drastic (adj.)—9Eq; HAIL
Syns : vigorous; powerful, extreme, strong, forceful
Ly Ants : cautious, mild, moderate
79. (b) Unique (adj.—aif&a
. Syns : individual, peculiar, special, typical, singular
3 Ants : common, ordinary. -
80. (b) his &1 W BN T % their, theirs 41 one’s %7 |
glli (a) Is T AT correct &, @il numberal adjectives (one, two, three ...
_ etc) + plural noun# certain amount, weight, distance, hei ght, period
w0, &1 WY &9 WY, singular verb & JAFT ¥ ¢ |
e 72t Six kilometers & certain distance ®T g /T &, Id: s.v.—is &I
e YT correct ¥
82. (b) Audience—sITATTo
83. (d) Immoral—(a3fy®) &1 @ R 1Q
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Sentence & 1Y Bl Wt HIAT &, G [dHeq ‘d’ ITT 17 |
84. (d) UfEFFEr’-'ﬁTT@'Tﬂ, N accuse &F Ty of &1 T &7 & |

qrE @—

1. Accused of 2. Care of
3. Charge of 4. Neglect of
5. Ashamed of 6. Confident of
7. Desirous of 8. Hopeful of
9. Proud of 10. Fond of
11. Acquit of 12. Beware of
13. Deprive of 14. Convict of
15. Inquire of ./ into

85. (¢) The &T 99T correct & |
86. (d) behind T TN 3TdTF T |

87. (a) to change completely one's course of action.

qre. &—

1. To read between the lines  —  to read carcfully
2. 'To putin cold storage —  to neglect
3. A sharp tongue —>  a bitter tongue
4. Strike off —  toremove
5. To take french leave —  leave without permission
88. (a) Amateur (V) Amatuer (x)
Ameteur (x) Amature (x)
89. (b) Servant (V) Servent {x)
Sarvant (x) Sarvent (x)

90. (b) Sang &I € sung &T 99 &R | @A 7T sentence i part ‘b’ error
part & | has / have + M.V* &T warT a7 & | g&f sang (M.V?2) &1 1
fhaT a1 B | &1 sang & S9TE sung &1 94T &) & |

91. We are taught grammar by Mr. Thakur. (Passive)
92. She asked him why he did not go that day. (Indirect)
93. She is too weak.

94. Milk is not so sweet as honey. (Posttive)

95. Traitress, traitor ®T feminine word 2 |

v6. Oases, vasis @ plural form gl

97. A weaver named Neeru, and his wife, Neema, found the baby Kabir.

98. The baby Kabir was lying all alone by the side of a tank.

99. The young Kabir was more interested in learning about religion. He
loved to talk to Sadhus and Fakirs and learn from them.

100. Kabir had grown up in the home of Neeru and Neema, who were
Muslims. He thought that Ramanand, who was a Hindu, would never
agree to become his guru. So he made a plan to lie down one of the
steps which went down to river, he knew that Ramanand went down

that way every morning.
oAk



	5-10001
	5-20001
	5-30001
	5-40001
	5-50001
	5-60001
	5-70001
	5-80001

